

The County of El Dorado Chief Administrative Office

Procurement & Contracts Division
Phone (530)621-5830

TO: ALL BIDDERS

RE: BID # 24-0074

Ammunition.

The apparent low qualified bidders for the subject bid are:

Category 1: San Diego Police Equipment Company, Inc. of San Diego, CA.

Category 2: Dooley Enterprises, Inc. of Anaheim, CA. Category 3: Miwall Corporation of Grass Valley, CA.

Category 4: San Diego Police Equipment Company, Inc. of San Diego, CA.

A spreadsheet is attached for your review.

This item is scheduled to be heard by the Board of Supervisors on Tuesday, December 3, 2024. Board of Supervisors Policy C-17, section 5.6.5, contains the procedure for the protest process. Copies are available upon request.

Following Board of Supervisors approval, a purchase order / purchase contract will be issued for the awarded period.

All bids are on file in the Procurement & Contracts Office and are available to review by appointment between 8:00 a.m. – 12:00 p.m. and 1:00 p.m. – 4:00 p.m., Monday through Friday.

For questions, please contact Rick Blake, Sr. Buyer (530) 621-5873.

Thank you for your participation in the competitive bid process.

Michele Weimer
Michele Weimer Nov 1 2024 08 46 PDT

Purchasing Agent

330 Fair Lane Placerville, CA 95667

BID #24-0074 AMMUNITION - COUNTYWIDE

NO BID CATEGORY 1		Net 45 Days 30-60 Days ARO but World Events ARO could be over 365 days.	Net 30-60 Days AR(ARO could b	NO BID TEGORY 1	NO BID CATEGORY 1				Terms Delivery ARO		
\$0.00		\$289,209.76		\$0.00					Evaluation (Does not include Sales Tax)		
30 00	0%	\$0.00	0%	\$0.00	0%				Less Terms Discount		
30 00	%0	\$0.00	0%	\$0.00	0%				Less 5% LVP	;	
\$0.00		\$289,209 76		\$0.00					Subtotal		
.00 \$0.00	\$0.00	\$33,490 00	\$334 90	\$0.00	\$0.00	100	500	50,000	Spear Gold DOT 223 Rem. 55 Grain GDSP	24446	14
\$0.00	\$0.00	\$408 72	\$408 72	\$0.00	\$0.00		1,000	1,000	Spear, Lawman 38 Special +P, 135 Grain TMJFN	53833	13
.00 \$0.00	\$0.00	\$517.36	\$517 36	\$0.00	\$0 00		1,000	1,000	Spear Gold DOT 38 Special +P, 135 Grain GDHP-SB	53921	12
\$0.00	\$0.00	\$38,075.20	\$237.97	\$0.00	\$0.00	160	1,000	160,000	Federal 9MM, 147 grain, FMJ	AE9FP	11
\$0.00	\$0.00	\$37,901.50	\$445 90	\$0.00	\$0.00	85	1,000	85,000	Federal 9MM, 147 Grain, Standard Vetocity	P9HST2	10
.00 \$0 00	\$0.00	\$3,628 00	\$226 75	\$0 00	\$0.00	16	250	4,000	Federal 12 Gauge Classic, 2-3/4", 00 Buckshot, 12 Pellet	F-1 30-00	9
.00 \$0.00	\$0.00	\$21,240 50	\$424.81	\$0.00	\$0.00	50	200	10,000	Federal 308 cal Win 168 grain Tactical Bonded Tip	LE308Tt2	O
.00 \$0 00	\$0.00	\$857 28	\$21432	\$0.00	\$0 00	4	250	1,000	Federal 12 Gauge Ammo, 2-3/4" 00 Buckshot	LE132 00	7
.00 \$0 00	\$0.00	\$79,242 00	\$264 14	\$0.00	\$0.00	300	500	150,000	Federal (American Eagle) 223 Rem 55 Grain, FMJBT	AE223	6
00 \$0.00	\$0.00	\$13,886 25	\$555 45	\$0.00	\$0.00	25	1,000	25,000	Federal HST .45 ACP Caliper, 230 Grain, +PJHP	P4SHST1	5
00 \$0 00	SO 00	\$5,545 65	\$369.71	\$0.00	\$0.00	15	1,000	15,000	Federal (American Eagle) 45 ACP, 230 grain FMJ	AE45A	4
00 80 00	\$0.00	\$29,991 00	\$499 85	\$0.00	\$0.00	60	1,000	60,000	Federal HST .40 Caliper, 180 Grain HST	P40HST1	ω
00 so oo	\$0.00	\$23,566 50	\$314 22	\$0.00	\$0.00	75	1,000	75,000	Federal, (American Eagle) 40 Caliper, 180 Grain FMJ	AE40R1	2
00 \$0 00	\$0.00	\$859 80	\$429 90	\$0.00	\$0.00	2	1,000	2,000	Federal, (American Eagle) .38 Special +P, 130 Grain FMJ	AE38K	-
Unit Price Extension	Unit I	Extension	Unit Price	Extension	Unit Price	Est. Annual # of Cases	Rounds per Case	Estimated Annual Usage	Description	Part#	Bid #
Miwall Corporation Grass Valley, CA	ഒ≊	San Diego Police Equipment Co. San Diego, CA	San Diego Pol San L	ooley Enterprises, Inc. Anaheim, CA	Dooley Ente Anahe				Category 1: Federal/Speer Ammunition	ory 1: Federal/Sp	Categ

BID #24-0074 AMMUNITION - COUNTYWIDE

Category 2: Winchester Ammunition Estimated Ammunition Rounds per St. Annual # An	NO BID CATEGORY 2	NO CATEG	NO BID CATEGORY 2	CATE	Net 45 Days 5-180 Days ARO	Net 4: 5-180 Da				Terms Delivery ARO			
Description	\$0.00		\$0.00		\$50,335.00					Evaluation (Does not include Sales Tax)			
Description	\$0.00	0%	\$0.00	0%	\$0.00	0%				Less Terms Discount			
Description Estimated Case Of Cases Case Of Cases Case Of Cases Of Cas	SD 00	0%	\$0.00	0%	\$0.00	0%				Less 5% LVP			
Description Estimated Annual Usage Rounds per Cases Est. Annual # Of Cases Unit Price Extension So 000 So 000 So 000	\$0.00		\$0.00		\$50,335.00					Subtotal			
Description Estimated auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AA Trap 1 1/8° oz. load, #9 shot 2 auge. AD avge. Black Powder Blanks, Super-X 4 auge. AB aug	\$0.00	\$0.00	\$0 00	\$0 00	\$10,160 00	\$127.00	80	500	40,000	Winchester 9MM Lugar, 115 Grain, FMJ	Q4172	23	
Description Estimated Annual Usage Rounds per Cases Est. Annual # Case Unit Price Extension S0 00	\$0.00	\$0.00	\$0 00	\$0.00	\$10,160.00	\$127.00	80	500	40,000	Winchester 9MM Lugar, 124 Grain, FMJ	USA9MM	22	
Description Estimated Annual Usage Rounds per Cases Est. Annual # of Cases Unit Price Extension S0 00	\$0.00	\$0.00	\$0 00	\$0.00	\$7,160.00	\$179.00	40	250	10,000	Winchester 12 Gauge 00 Buckshot, 9 Pellet	хв1200	21	
Description Estimated Annual Usage Rounds per Cases Est. Annual # Of Cases Unit Price Extension S0 00 S0 00 <th< td=""><td>\$0.00</td><td>\$0.00</td><td>\$0.00</td><td>\$0.00</td><td>\$7,620.00</td><td>\$190.50</td><td>40</td><td>250</td><td>10,000</td><td>Winchester 12 Gauge 00 Buckshot, 9 Pellet, Low Recoil</td><td>RA1200</td><td>83</td></th<>	\$0.00	\$0.00	\$0.00	\$0.00	\$7,620.00	\$190.50	40	250	10,000	Winchester 12 Gauge 00 Buckshot, 9 Pellet, Low Recoil	RA1200	83	
Description Estimated Annual Usage Rounds per Case Est. Annual # of Case Unit Price Extension S0 00	\$0.00	\$0.00	\$0.00	\$0.00	\$6,096.00	\$190 50	32	250	8,000	Winchester 12 gauge Slug, 1oz Low recoil	RA12RS15	19	
Description Estimated Annual Usage (Case) Rounds per (Case) Est. Annual # (Case) Unit Price (Case) Extension (Miwall Corporation (Case) (Case) Unit Price (Extension) S0 00	\$0 00	SO OO	\$0 00	\$0.00	\$6,096.00	\$190 50	32	250	8,000	Winchester 12 gauge, 1oz Super-X Slug	X12RS15	18	
Description Estimated Annual Usage Est. Annual # Case Unit Price Extension S0 00 S0 00 <th col<="" td=""><td>\$0.00</td><td>\$0.00</td><td>\$0.00</td><td>SO 00</td><td>\$1,239.00</td><td>\$309 75</td><td>4</td><td>250</td><td>1,000</td><td>Winchester 12 Gauge Black Powder Blanks, Super-X</td><td>XBP12</td><td>17</td></th>	<td>\$0.00</td> <td>\$0.00</td> <td>\$0.00</td> <td>SO 00</td> <td>\$1,239.00</td> <td>\$309 75</td> <td>4</td> <td>250</td> <td>1,000</td> <td>Winchester 12 Gauge Black Powder Blanks, Super-X</td> <td>XBP12</td> <td>17</td>	\$0.00	\$0.00	\$0.00	SO 00	\$1,239.00	\$309 75	4	250	1,000	Winchester 12 Gauge Black Powder Blanks, Super-X	XBP12	17
Description Estimated Annual Usage Case of Cases Best: Annual Usage Case of Cases Best: Annual Usage Case of Cases Annual Usage Case of Cases Best: Annual Wisage Case of Cases San Diego, CA San Diego, CA San Diego, CA Subject Cases Unit Price Extension Unit Price Extension San Diego, CA San D	\$0.00	\$0 00	\$0 00	\$0.00	\$902 00	\$112 75	æ	250	2,000	Winchester 12 gauge, AA Trap 1 1/8" oz. load, #9 shot	AAM129	16	
Dooley Enterprises, Inc. Annaheim, CA San Diego, CA Grass Valle Grass Valle Dooley Enterprises, Inc. Annaheim, CA San Diego, CA Grass Valle Unit Price Extension Unit Price	\$0.00	\$0.00	\$0.00	\$0.00	\$902 00	\$112 75	œ	250	2,000	Winchester 12 gauge. AA Trap 1 1/8" oz. load, #9 shot	AASC129	55	
Dooley Enterprises, Inc. San Diego Police Equipment Co. Anaheim, CA San Diego, CA	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Est. Annual # of Cases	Rounds per Case	Estimated Annual Usage	Description	Part#	Bid#	
	orporation altey, CA	Miwall Co Grass V	ice Equipment Co. Jiego, CA	San Diego Pol San I	erprises, Inc. eim, CA	Dooley Ente Anahe				ster Ammunition	ory 2: Wincheste	Categ	

Cateo	Category 3: Hornady Ammunition	Ammunition				Dooley Enterprises, Inc. Anaheim, CA	rprises, inc. m, CA	San Diego Poli San D	San Diego Police Equipment Co. San Diego, CA	Miwall Corporation Grass Valley, CA	Miwall Corporation Grass Valley, CA
Bid #	Part #	Description	Estimated Annual Usage	Rounds per Case	Est. Annual# of Cases	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
24	83276	Hornady, 223 Rem 55 grain TAP	90,000	200	450	\$0.00	\$0.00	\$0.00	\$0.00	\$171.80	\$77,310.00
25	80965	Hornady, .308 Win. 168 grain TAP AMAX	5,000	200	25	\$0 00	\$0 00	\$0 00	\$0 00	\$271.00	\$6,775.00
26	8270	Hornady, 50 BMG 750 grain AMAX	1,000	100	10	\$0 00	\$0.00	\$0.00	\$0.00	\$709.20	\$7,092.00
27	90215	Hornady, Critical Duty 9MM, Luger+P, 124 Grain, FlexLock	5,000	500	10	\$0.00	\$0.00	\$0 00	\$0.00	\$285.20	\$2,852.00
		Subtotal					\$0.00		\$0.00	-	\$94,029.00
		Less 5% LVP				0%	\$0.00	0%	\$0.00	0%	\$0.00
		Less Terms Discount				0%	\$0.00	2%0	\$0.00	0%	\$0.00
		Evaluation (Does not include Sales Tax)					\$0.00		\$0.00		\$94,029.00
		Terms Delivery ARO				NO BID CATEGORY 3	BID ORY 3	CATE	NO BID CATEGORY 3	Net 45 Days 60-90 Days ARO	Net 45 Days I-90 Days ARO
Categ	Category 4: CCI Ammunition	unition				Dooley Enterprises, Inc. Anaheim, CA	rprises, Inc. m, CA	San Diego Poli San D	San Diego Police Equipment Co. San Diego, CA	Miwall Corporation Grass Valley, CA	rporation illey, CA
Bid #	Part#	Description	Estimated Annual Usage	Rounds per Case	Est. Annual # of Cases	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
28	0047	CCI Velocitor .22 cal, Long Rifle 40 grain Copper Plated Hollow Point (CPHP)	5,000	5,000	-3	\$0.00	\$0.00	\$718.85	\$718.85	\$0.00	SO 00
29	926GG	Discontinued by Mfg CCI Copper 22 cal, Long Rifle 21 grain CHP	5,000	5,000	. د .	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
							\$0.00		\$718.85		S0 00
		Less 5% LVP				0%	\$0.00	0%	\$0.00	0%	SO 00
		Less Terms Discount				0%	\$0.00	0%	\$0.00	0%	so oo
		Evaluation (Does not include Sales Tax)	-				\$0.00		\$718.85		\$0.00
		Terms Delivery ARO		:		NO BID CATEGORY 4	BID ORY 4	Net 30-60 Days ARC ARO could b Bid #29 Discont	Net 45 Days 30-60 Days ARO but World Events ARO could be over 365 days. Bid #29 Discontinued by Mfg No Replacement	NO BID CATEGORY 4	NO BID TEGORY 4